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I = (w4 u® 4 fu—1)

* 1 irreducible components of dim¢ = 0, with total 89 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® — 60u8® + - .- + 16u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs ¥+ 31+ —3u—1
C2,Ce u¥ —u® 4 a1
Cs u® +u® 4+ 361u + 97
C4, C10 u¥ —u® a1
7, C12 u® 50 107w+ 21
Cs u® — TuP® 4. — 1205u — 391
Cy, C11 u® 4290 + .. —3u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€155 y® 4+ 555 4 4 5y — 1
Ca; Co y* + 3158 4. — 3y —1
€3 y® — 9y®® ...+ 469821y — 9409
C4, C10 Y0 —20y88 ... 3y —1
7, C12 Y3 + 5958 + ... — 9131y — 441
Cs y® + 11y + .- — 5202795y — 152881
Co, C11 Y 46358 . — 27y — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.792424 + 0.6185041

3.11119 — 5.1328471

0.792424 — 0.6185041

3.11119 + 5.132841

—0.796751 4 0.6140791

2.10885 + 10.879201

—0.796751 — 0.6140791

2.10885 — 10.879201

0.756551 + 0.6740241

5.26973 — 2.665951

0.756551 — 0.6740241

5.26973 4 2.665951

—0.781291 + 0.6018281

—3.26113 + 5.119021

—0.781291 — 0.6018281

—3.26113 — 5.119021

—0.749471 + 0.6878011

4.91888 — 3.023621

—0.749471 — 0.6878011

4.91888 + 3.023621

0.762514 4+ 0.6174851

0.72677 — 2.954881

0.762514 — 0.6174851

0.72677 + 2.954881

—0.050173 4 0.9786041

—0.29363 — 2.698481

—0.050173 — 0.9786041

—0.29363 + 2.698481

0.414241 + 0.8793591

0.79840 4 7.490511

0.414241 — 0.8793591

0.79840 — 7.490511

—0.448726 + 0.8561421

1.61410 — 2.059981

—0.448726 — 0.8561421

1.61410 + 2.059981

—0.746043 + 0.5837681

—1.104240 — 0.8165051

—0.746043 — 0.5837681

—1.104240 + 0.8165051

—0.705718 4+ 0.8162411

1.374950 — 0.2746301

—0.705718 — 0.8162411

1.374950 + 0.2746301

—0.037143 + 1.0802701

—5.00271 — 2.215501

—0.037143 — 1.0802707

—5.00271 + 2.215501

—0.063504 + 1.0944701

—2.92880 — 4.389421

—0.063504 — 1.0944701

—2.92880 + 4.389421

0.018621 + 1.0970801

—6.71736 — 1.836771

0.018621 — 1.0970801

—6.71736 + 1.836771

0.045471 + 1.1006601

—9.16961 + 4.224231
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Solutions to I} vV—=1(vol + /=1CS) Cusp shape
u= 0.063947 + 1.1011201 —3.96933 + 10.081007 0
u= 0.063947 — 1.1011201 —3.96933 — 10.081001 0
w= 0.111277 4+ 0.8789771 —0.48030 — 2.609951 —8.16580 + 1.816551
w= 0.111277 — 0.8789771 —0.48030 + 2.609951 —8.16580 — 1.816551
u = —0.748159 + 0.8269661 6.86792 4 4.323971 0
u = —0.748159 — 0.8269661 6.86792 — 4.323971 0
u= 0.715743 + 0.8590661 4.12520 + 2.731621 0
u= 0.715743 — 0.8590661 4.12520 — 2.731621 0
u= 0.701524 + 0.5329481 —1.45390 — 3.140361 —5.81541 + 3.086931
u= 0.701524 — 0.5329481 —1.45390 + 3.140361 —5.81541 — 3.086931
u = 0.745460 + 0.8351251 7.56666 + 1.426711 0
u=0.745460 — 0.8351251 7.56666 — 1.426711 0
uw=0.313983 4 0.8217571 —3.73770 4 2.257781 | —12.76156 — 5.272791
uw= 0313983 — 0.8217571 —3.73770 — 2.257781 | —12.76156 + 5.272791
u = —0.702092 + 0.8921821 1.14647 — 5.118581 0
u = —0.702092 — 0.8921821 1.14647 + 5.118581 0
u= 0.735138 + 0.8880621 7.40603 + 4.185051 0
u= 0.735138 — 0.8880621 7.40603 — 4.185051 0
u = —0.734636 + 0.8954061 6.66040 — 9.942181 0
u = —0.734636 — 0.8954061 6.66040 4 9.942181 0
u = —0.611338 + 0.5693581 —0.124299 — 0.9823471 | —2.27042 4 3.598617
u = —0.611338 — 0.5693581 —0.124299 + 0.9823471 | —2.27042 — 3.598617
u = —0.599043 + 1.0122207 0.31919 — 2.053411 0
u = —0.599043 — 1.0122207 0.31919 4 2.053411 0
u= 0.596824 + 1.0205807 —0.71708 — 3.534661 0
u= 0.596824 — 1.0205807 —0.71708 + 3.534661 0

= 0.662757 + 0.4648631

I~
IS

—4.15479 + 2.648651

—8.87639 — 4.033211

u= 0.662757 — 0.4648631

—4.15479 — 2.648651

—8.87639 + 4.033211

u = —0.632747 4 1.0103301

—1.35976 — 4.017841

0

u = —0.632747 — 1.0103301

—1.35976 4 4.017841

0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u= 0.616311 + 1.0249201 —5.65284 4 2.296121 0
u= 0.616311 — 1.0249201 —5.65284 — 2.296121 0
u = —0.687197 4 0.9918341 4.00117 — 2.452581 0
u = —0.687197 — 0.9918341 4.00117 + 2.452581 0
u = 0.638227 4 1.0290207 —2.85651 + 8.301921 0
u= 0.638227 — 1.0290207 —2.85651 — 8.301921 0
u= 0.688393 + 1.0005607 4.28705 + 8.165691 0
u= 0.688393 — 1.0005607 4.28705 — 8.165691 0
u = —0.664209 + 1.0310801 —2.41122 — 4.564351 0
u = —0.664209 — 1.0310801 —2.41122 4 4.564351 0

u= 0.657312 4+ 0.4034821

0.89298 +- 8.304741

—2.77230 — 7.502931

u= 0.657312 — 0.4034821

0.89298 — 8.304741

—2.77230 + 7.502931

u= 0.677609 + 1.0261701 —0.48705 + 8.431111 0
u= 0.677609 —1.0261701 —0.48705 — 8.431111 0
u = —0.679374 4 1.0367001 —4.55418 — 10.645201 0
u = —0.679374 — 1.0367001 —4.55418 + 10.645201 0
u = 0.688505 + 1.0345801 1.86598 + 10.722701 0
u = 0.688505 — 1.0345801 1.86598 — 10.722701 0
u = —0.688639 + 1.0376201 0.8409 — 16.47991 0
u = —0.688639 — 1.0376201 0.8409 + 16.47991 0

u = —0.635260 + 0.4008651

1.86099 — 2.665791

—0.88903 + 2.736411

u = —0.635260 — 0.4008651

1.86099 + 2.665791

—0.88903 — 2.736411

u = —0.349167 + 0.5278381

—0.135235 — 1.0662101

—2.23468 + 5.964411

u = —0.349167 — 0.5278381

—0.135235 + 1.0662101

—2.23468 — 5.964411

u = —0.501948 4 0.1972731

3.26226 — 1.155881

2.07588 + 2.903571

u = —0.501948 — 0.1972731

3.26226 + 1.155881

2.07588 — 2.903571

u = 0.507837 4 0.1536121

2.69964 — 4.374121

0.81673 + 3.127611

u= 0.507837 — 0.1536121

2.69964 + 4.374121

0.81673 — 3.127611

u= 0.403915

—1.63407

—4.55070




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cs u® +31u88 - —3u—1
€2, C6 uB — a1
€3 u® +u® + -+ 361u + 97
C4, C10 u¥ — a4+ w41
C7,C12 uB +5u® + -+ 107u + 21
c8 uB — 7uB® ... — 1205u — 391
Cg,C11 uB® 4+ 2002+ —3u+1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,C5 % +55y% 4+ .. 45y —1
C2, Cp y* +31y% .. — 3y —1
€3 Y30 — 9yB8 ... 4 469821y — 9409
€4, C10 Y% —29y% +... 3y —1
7, C12 y® +59y%° + ... — 9131y — 441
cs y® + 11988 + ... — 5202795y — 152881
€9, C11 y* +63y% . — 2Ty — 1




